2022 (A) iy

e " SSC PART-ll (10th CLASS)
G@NERAL SCIENCE ~ GROUP-| iz~ o) Sz
TIME ALLOWED: 2.10 Hours SUBJECTIVE L2 5210 = =
MAXIMUM MARKS: 60 | 60 = AF
NOTE: Write same question number -%61)%%_{.'4‘)’,&"55 (-,»;-.”’::Z»U-:‘Ulﬂﬁ,-{Qb’qlﬁ -f

and its part number on answer book, as given in the question paper.
SECTION-l Jil»

2. Attempt any six parts. 12=2x6 _éxfutfiil?lﬁ’aéf 2/~‘Ufr
(i) Write any two methods to conserve energy. 1+1 ég&)’»LJJGA i)
(i) How electricity can be produced from solid waste? E‘di_dl?JLy{ed‘_ s’c,u)..uJLz (i)
(i) Which elements are called radioactive elements? Wl Ud/g, e :’iJfo:_uf (i)
(iv) What is multimeter? e bl K ()
(v) Define induction. ,sz/’Ju";l (v)
(viy Write any two steps for first aid administration. ,.éf/ f.l. ,d!mﬂ(l,r‘ LJ-I....W/’ (vi)
(vii) Write the name of any two information storage devices. f(LL At ame 3 (vi
(viii) How the massages are transmitted by telegraphy? “:_dréd’fd_,{.bzu‘dl/@i (viii)
(ix) Define protocol. Write the name of protocol being ?ufg_m-_)lﬁ‘fdﬁs{:_q;ﬁuu% wdpd S /’Lfdf!:{ (ix)
used in Pakistan.
3. Attempt any six parts. 12=2x6 iéjful.lfﬁ.!?fia.éf 234U
(i)  What is nuclear fission? Se W 25 (i)
(i)  What is degradation of environment? ?("_‘.L.-l/dﬁ|JJJ’L (i)
(i) What is tidal energy? | \?:___L_/Lj}ldl’l: (i)
(iv) Define transformer. LES AL ()
(v) Write two uses of A.C. 141 L Ee el (et (V)
(vi) What is an explosion? Se e (vi)
(vii) Define P-N junction diode. E 5Bl wi)
(viii) What is data management? “z:_LfM i.;; (wiii)
(ix) Define fax machine. -é—v/’gﬂj"u‘ﬁ (ix)
4. Attempt any six parts. 12=2x6 e limga 3 4ty
(i)Y  Write two characteristics of Alpha radiations. ,;_._«Ler”»d’ /" (S (i)
(i)  What is meant by Hologram? ‘?¢:/y’c,rf/@ i)
(i) What is the difference between E.C.G and C.T..Scan? 1+1 S G b S ECG (i)
(iv) Write the use of laser technology for Military purposes. _ U Lo GG (iv)
(v)  Write any four ingredients found in sugarcane. ,c_f%.’ bbe Jﬂ__l,.i_tgagﬁf (v)
(vi) Define pharmacy. _E AL (i)
(vii) Describe two objectives of SUPARCO. _g_fuy.wwwéﬂl; (vii)
(viii) What is meant by Meteorology? ?.f_.;ygc_.dﬂ;j-:‘ (viii)
(ix) When was SUPARCO established? Where is its headquarter? E‘:i_c’:uul.g’rwms’wwﬁar_ﬁﬁg (ix)
SECTION-I
o w @
NOTE: Attempt any three questions. 24=8x3 -égfaglﬁiaﬂlrufadf oy
5.(A) Describe any two traditional methods to produce electricity. 2 + 2 L ol Sy )o:tw,.&é.ﬁg_,;&f' (#N-5

(B) What is meant by interconversion of energy? 2 +2 _ﬁ;fbyfguﬂs"&&}ufﬁbﬁ/ Td‘:..,J!/‘_L-r&.-JJl?LﬁLLL;/If i)
State law of conservation of energy.

{A) Explain the charging and discharging of capacitor. 2+2 e .:.aLbJ..@;Lrw J’ub@c‘f (-6
(B) What is AVO meter? Describe its importance. 1+3 -éuu.,f SUt S Ky ()
7.(A) What do you know about Information Technology ~ 2+2 Sl Tt AL J‘CJJ’»JJ,JL@'M (-7

and Telecommunication?

2]

(B) Write a note on E-Mail. 4 zq.,;/ (E-Mail) S (&)
8.(A) What are X-rays? Write only three properties of them. 1+3 sl /ffuhfygﬁu_’/d/uf *‘u*Lf/,ft ()-8
(B) Whatis E.E.G? Write its three uses. 1+3 “Efe L S e VG ()

{

A) What are the services of Pakistan Atomic 4 \’J*J._,md’u% ALty LJBLJWJ/&;/%: ()9
Energy Commission for the achievement of Nuclear energy for peace purpose?

(B) Write down the four advantages of Artificial satellites. ~ 1x4 = 4 s LR (L)
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PAPER CODE 2022 (A) TN A

NBMBER: 3091 SSC PART-Il (10th CLASS) [09

GENERAL SCIENCE GROUP-| S S
TIME ALLOWED: 20 Minutes OBJECTIVE o"‘S/",ﬂ 220 = =
MAXIMUM MARKS: 15 15= #F

fe B | S 50 Uwf.uli.._uux:.u" u:ﬁbéé,:&t«ﬁdfrf/(é?dff Ut £é_) D . C B A abl?;@lpﬁdfrf Y
,Jlr'J I -f/_bbu"’ T qufuﬂ"{fd_/( 4 }()J/h -B‘J'?Jf“'ﬁkulfoﬂabﬂwlftﬁi./g P L L_/:(J(u:/ln:ba._f
Note. you have four choices for each objective type question as A, B, C and D. The choice _u);d’/ = Uy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Energy possessed by the body due to its position is called: . dLLvJ fbfr‘a.;a(fu" iU (’) J( (1)
(A) Kinetic energy & d¢ (B) Potential energy G/
(C) Elastic potential energy (. J%/E (D) Heat energy J.Hecr
(2) The product of force and distance covered in the direction e L‘Lif;ﬂf b(éitéufi,ufwd/w;’ulw} (2)
of force is called:”
(A) Energy (&I (B) Work s (C) Power s} (D) Current =/
(3) The way of obtaining electricity which does not e U A S PG ()

produce thermal pollution is called:
(A) Hydro-electric power ;;Q.J//”?iu:ﬂ (B) Nuclear power sl f-:(x (C) Bio Gas U iy ¥{ (D) Thermal power J;gJ/?

(4) The conductors having high resistance are called: M_:z.u/ rm;l“,)u"f’b&fd }'/if (4)
(A) Capacitors ) iuwssS (B) Insulators JHP (C) Switches ;Zfr (D) Resistors J s

(5) The constant in Ohm's law is: _.:‘;_..wi"fui’uﬁt?iﬁ:f (5)
(A) Resistance U5 (B) Charge tuk (C) Potential differenice U235 (D) Current 22/

(6) The device which does not allow current to pass oS e sensPlle S e ST (6)

through a circuit over a certain limit is called:

(A) Transformer 17 (B) Resistor i/ (C) Fuse J» (D) Switch (f;r

(7) The instrument used to measure current is called: -.:;Jlgd/j}g J._*)f.»;,tﬂ_ﬂgf {7)
(A) Voltmeter A/ (B) Circuit breaker /‘(/u_"/g/ (C) Ammeter &4 (D) Switch ér

(8) Most of the current flows through P-type semi-conductors is due to: -.-:f..,g:"{;i—))iﬁ/:);)&k:-}' /"’/Jf u‘f..;,i ed; (8)
(A) Protons sy (B) Holes (C) Neutrons 71./% (D) Electrons -/',/‘-91

(9) How many Hovering satellites can send transmissions E‘ugé.__lwc.gﬁbf ig:;j;bfd’wtf L*t"..fjm'éf (9)

to all over the world?

(A) 2 By 3 (C) 4 (D) 5

(10) The process of adding impurity in semi-conductors is called: _a_bMJfE’L/JL«d SIS (10)
(A) Doping ._JZ:; (B) Conductivity & r;(,ff (C) Electrification u”"'y /'Jl (D) Rectification J‘ng{

(1) The number of electrodes used on head to get EEG. <t Bl b2ty L2 /N (EEG) SUI8I (1)
(A) Ten 2 (B) Twelve s/l (C) Fifteen sk (D) Sixteen .J»

(12) Laser is used to produce three dimensional image, known as: *V;;@uf'/ spgratgd’uf"’lpgsd&/ﬁcjﬂ (12)
(A) Hologram r!/'j’:f (B) Laser image & (C) Strands i > (D) Caller /¥

(13) Frequency of ultrasound is: _4.53’£)J}5wﬂ (13)
(A) Less than 20 Hz r; 20Hz (B)20Hz (C) 20 kHz (D) More than 20 kHz s\ 20 kHz

(14) American astronaut Neil Armstrong stepped on moon: _4_/"!45/&:151 L,L'(JTLJfJI,BBLE V. (14)
(A) March 2, 1952 1952 &l 2 (B) October 4, 1957 1957 4#1 4
(C) July 20, 1969 1969 60:? 20 (D) June 15,1972 1972 Uz 15

(15) Total production capacity of Karachi Nuclear Power _..:L:_,.."/f}i*’*;f"bl{{.;ﬁj (KANUPP) _:Su;ug/'..!;é@lf (15)

Plant (KANUPP) is: (A) <hEs 121 mega watt

(B) LIs€+ 127 mega watt (C) Lk~ 137 mega watt (D) Is€+ 141 mega watt

42(Obj)( 7<)-2022(A)-10000 (MULTAN)



PAPER CODE 2022 (A) AN Ay

#UMBER:3093 SSC PART-ll (10th CLASS) [ﬁ._

GENERAL SCIENCE ~ GROUP-| b < o/ Sz
TIME ALLOWED: 20 Minutes OBJECTIVE M w20 = &
MAXIMUM MARKS: 15 15= AF

AP\ /GL!G}’JMJU”L*'}.’MJJC’-(; u:fbé{.:&.b&dl!ﬁ{(é(d_b? _uj’{":é.) D sl C B A :.—LL&,:-@&Z:J'JW -def
{34Vl -B’LHJ;{/:}J)/J:.-»‘JL/QZ J@J}b -(ﬂJﬁ%‘ﬁﬂJﬁd@lﬂJi—& Sok | &St mlie LI
Note: you have four choices for each objective type question as A, B, C and D. The choice -QJEJ?}.:.UIV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Frequency of ultrasound is: u;_.g'{gﬁdf.f:f'wl/”l (1)
{A) Less than 20 Hz ,{, 20Hz (B) 20 Hz (C) 20 kHz (D) More than 20 kHz alje 20 kHz
(2) American astronaut Neil Armstrong stepped on moon: -z_}!/?éfu‘}.lfufl/‘?ﬁdfjl,uég_{/l (2)

(A) March 2, 1952 1952 &l 2 (B) October 4, 1957 1957 .51 4
(C) July 20, 1969 1969 JU:’. 20 (D) June 15,1972 1972 o 15
(3) Total production capacity of Karachi Nuclear Power el JE (KANUPP) il 2550 (3)
Plant (KANUPP) is: (A) _bl:?} 121 mega watt
(B) = hE+ 127 mega watt (C) <€~ 137 mega watt (D) Lisg+ 141 mega watt
(4) Energy possessed by the body due to its position is called: ~98Mﬁ§-)lsﬁfcﬂp Ju?)':;u:ﬁd’( (4)
(A) Kinetic energy LE'.}I_I:}SK (B) Potential energy LS"./'IJL%
(C) Elastic potential energy J./1 5 E 1t/ (D) Heat energy ./
(5) The product of force and distance coveredrimthe diregtion - S A YL sl d (5)
of force is called:”
(A) Energy (.71 (B) Work o (C) Power .k (D) Current bt
(8) The way of obtaining electricity which does not 3 bt A gJ’,E’f:a_J_}de?Ld""}?! (6)

produce thermal pollution is called:
(A) Hydro-electric power Jsl;..',//-*?lugg (B) Nuclear power ;sg/’—.’ﬁa' (C) Bio Gas U~y (D) Thermal power J:LJ/

(7) The conductors having high resistance are called: - 3L1L£/ =m:§)u’f’bJ¢ﬁJ}&"f (7)
(A) Capacitors S (B) Insulators J 2+ (C) Switches #» (D) Resistors J/s

(8) The constant in Ohm's law is: i :,}U}qu!lféﬁsf (8)
(A) Resistance ™7 (B) Charge &k (C) Potential difference %45 (D) Current =2/

(9) The device which does not allow current to pass -Q,;J}Qﬁ:ﬁ)p‘«_mﬁ..pc,_,r:_u}zJTL_n (9)

through a circuit over a certain limit is called: _

(A) Transformer /17 (B) Resistor ~is (C) Fuse ¥ (D) Switch f—,r

(10) The instrument used to measure current is called: -c‘-t}%d/fgu‘(&/iz-u’?jl—.” (10)
(A) Voltmeter ~2)s (B) Circuit breaker )f,;_:_,f/ (C) Ammeter k% (D) Switch ér

(11} Most of the current fiows through P-type semi-conductors is due to: _:.;_._»Jé..;ﬂi&/(a)p..:,@‘—”ifd:.gtq (11)
(A) Protons sy (B) Holes (C) Neutrons L (D) Electrons S A

(12) How many Hovering satellites can send transmissions Suﬂrég:";.;g;i_fl_;:dm-ﬂaﬁf w band  (12)

to all over the world?

(A) 2 (B) 3 (C) 4 (D) 5

(13) The process of adding impurity in semi-conductors is called: *‘LrLk—LFKL)/JG&Jm;ﬁJ}G{J: (13)
(A) Doping ulgsi (B) Conductivity L}::fﬂf (C) Electrification u%@”-l (D) Rectification jib&g;

(14) The number of electrodes used on head to get EEG. _g)lﬁ"u/i,:,}?iLl:i_@Lé/__/gicii./@“lo (EEG) SJIg  (14)
(A) Ten o (B) Twelve »4 (C) Fifteen s.4 (D) Sixteen Jy

(15) Laser is used to produce three dimensional image, known as: -UEJM ‘uL?Ji?JJ‘W!L;JMﬁc—J}:' (15)
(A) Hologram rl/’i’ﬂ (B) Laser image &L (C)Strands ik * (D) Caller /¢

42(Obj)( Y ¥€)-2022(A)-10000 (MULTAN)



PAPER CODE 2022 (A) 2~

A

N8MBER: 3095 SSC PART-Il (10th CLASS) /1

GENERAL SCIENCE GROUP-| o/ Sz

TIME ALLOWED: 20 Minutes OBJECTIVE (_5"’.1/’,.‘? e 20 =

MAXIMUM MARKS: 15 15= AF
A i & A3l e o L i\ irg Qb3 L Ls D 51 C B A A2l -2

EIR IV .—f;.bhu“ /}qu:uu’JL./ 24 J(/J:fb _fmyjﬂiub’uﬁgﬂun‘Jd_.& O s L.f.:,fuubup‘r_..f -2
Note: you have four choices for each objective type question as A, B, C and D. The choice -J/C,J')' o Uy

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /-,‘Ulr
(1) The device which does not allow current to pass -Q:L;fu‘?’;‘/‘ﬁ:p@uuﬁ_{!@u:&'//ﬁJTL;‘I (1)
through a circuit over a certain limit is called: ‘
(A) Transformer /61 (B) Resistor i (C) Fuse i (D) Switch &»
(2) The instrument used to measure current is called: -%L}?Jfﬁ;u&f’/&u)‘ﬁk" (2)
(A) Voltmeter /s (B) Circuit breaker /-(/c.z':/ (C) Ammeter x4 (D) Switch ér
(3) Most of the current flows through P-type semi-conductors is due to: _:cﬁ;.‘x{_;i_;}(dfug}c.jf(:ifgf:{hé (3)
(A) Protons tsy (B) Holes (C) Neutrons L (D) Electrons s
(4) How many Hovering satellites can send transmissions ?u;réégﬁ_«,g/"fy:dmﬂ'ﬂzﬁrﬁméf (4)
to all over the world?
(A) 2 (B) 3 (C) 4 (D) 5
(5) The process of adding impurity in semi=gonductors is called: - :'MJ“E’L/JL/J s »;,md/._;" (5)
(A} Doping _.14;: (B) Conductivity u;rf,cf (C) Electrification ¢ HED) (D) Rectification u’(f
" (6) The number of electrodes used on head to get EEG. -z 2l b b, L L2 S 1 (EEG) BUIY1 (8)
(A) Ten (B) Twelve o/l (C) Fifteen s.4 (D) Sixteen J»
(7) Laser is used to produce three dimensional image, known as: i{_gJLﬁf r;_jj(:SlfJJ’bp@Jmﬁc,J;{ (7)
(A) Hologram rl/@ﬁ (B) Laser image G2 (C) Strands ik > (D) Caller /¢
(8) Frequency of ultrasound is: e FESEA (8)
(A) Less than 20 Hz ﬂ::. 20Hz (B)20 Hz (C) 20 kHz (D) More than 20 kHz i 20 kHz
(9) American astronaut Neil Armstrong stepped on moon: -G}’{i/ﬁkj'/”f’ﬁ;ﬁﬂu“u{/' (9)
{A) March 2, 1952 1952 &4l 2 (B) October 4, 1957 1957 431 4
(C) July 20, 1969 1969 L:ll.li. 20 (D) June 15,1972 1972 15
(10) Total production capacity of Karachi Nuclear Power -:‘_..—J;’WWJUSJ{J (KANUPP) &%Jskﬁfﬁ@‘/ (10)
Plant (KANUPP) is: (A) i€~ 121 mega watt
(B) =€+ 127 mega watt (C) <1s€+ 137 mega watt (D) 15§~ 141 mega watt
(11) Energy possessed by the body due to its position is called: ~+ullfé’ v “Ue WA
(A) Kinetic energy ;5".)!.,@35’ (B} Potential energy J./IJ"’;
(C) Elastic potential energy d)lﬁ\_ﬁl};l (D) Heat energy (/e
(12) The product of force and distance covered in the direction _f_‘f_mf-.,/"’uwﬁo 6o/l ferntnln? (12)
of force is called:’
. (A) Energy (/! (B) Work s (C) Power s (D) Current 22/
~(13) The way of obtaining electricity which does not : —e P AR S AL A (13)
produce thermal pollution is called:
(A) Hydro-electric power Jsg..ﬁ?lufgg (B) Nuclear power JJ&}-‘E&’: (C) Bio Gas u"-'j:’g (D) Thermal power J:l;J/;‘
(14) The conductors having high resistance are called: e sl LR (14)
(A) Capacitors i sS (B) Insulators J &5 (C) Switches 7+ (D) Resistors J i
(15) The constant in Ohm's law is: e &Lﬁ'uil&'ﬁﬁ:l (15)
(A) Resistance U™/ (B) Charge ke (C) Potential difference 4% (D) Current =/

42(0bj)( W YL IX)-2022(A)-10000 (MULTAN)



PAPER CODE 2022 (A) ﬂ A
BMBER: 3097 SSC PART-I (10th CLASS) /p) :

GENERAL SCIENCE ~ GROUP-| oS Sz
TIME ALLOWED: 20 Minutes OBJECTIVE (0 er20 = &y
MAXIMUM MARKS: 15 | 15= AF

S of | /CL):}JJW&WL...«L&MJJ;LJ: u;.‘?béﬂé.:é‘.b-.{:dlfﬁ.aébﬁ'ﬁ -ugéfc:u D .l CB-A aLLﬂ;ﬁ'y&:dffﬁ S
VEIZ V] -fi.lgvéjuﬁ}/:)dfgﬁ:u}‘(,{."_/gé 1{}:?1: -b'mr‘."klﬁ»,«'ﬁuﬁu::w‘gfi.ﬂ Jail a‘../jfu:}bup.;,..g %l
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/;‘)’;ﬁg.my
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The conductors having high resistance are called: wuji_.uf'/ ‘mya“?ﬂu’-;}fi‘f (1)
(A) Capacitors BETIRELY (B) Insulators 4/’-.4;)! (C) Switches jr (D) Resistors J i ;
(2) The constant in Ohm's law is: e AN YIGL Rl ).
{A) Resistance u’“u (B) Charge Ll - (C) Potentia! difference u"*"' 3 f*’;’ (D) Current T
(3) The device which does not allow current to pass -l:;J.i.;}"utii.:r'/::L)g:.»uP_Q:_, WA P AW (3)
through a circuit over a certain limit is called:
(A) Transformer 71/ (B) Resistor i (C) Fuse s (D) Switch f;f'
(4) The instrument used to measure current is called: _§~J?dfﬁjﬁd/~:’/cz-uﬁﬁld’ (4)
(A) Voltmeter ~'2ss (B) Circuit breaker )_//__,5/ (C) Ammeter % (D) Switch ér
(5) Most of the current flows through P-type semi-conductors is due to: _:d‘-éa(,(i.z}(&/:;&)a}f.tra:{lﬂé (5)
(A) Protons s (B) Holes (C) Neutrons i< (D) Electrons 2
(6) How many Hovering satellites can send transmissions ?ggélff;abif y;dm/dﬂ W (6)
to all over the world?
(A) 2 (B) 3 (C) 4 (D) 5 _
(7) The process of adding impurity in semi-conductors is called: s AL AP I P (7)
(A) Doping & +3 (B) Conductivity 5% (C) Electrification J‘@ Yot (D) Rectification w”lﬁ
(8) The number of electrodes used on head to get EEG. e i i bz B, J L0 S} (EEG) SISt (8)
(A) Ten » (B) Twelve o\ (C) Fifteen s.x (D) Sixteen J»
(9) Laser is used to produce three dimensional image, known as: -u:JLLf ‘L)}ljlgu(yb_fjb;&.f/ﬁd_;kj (9)
(A) Hologram (F/@:f (B) Laser image Zflr/_‘ (C) Strands J.i; ~ (D) Caller J¥
(10) Frequency of uitrasound is: _.:;_U.”;{)Jﬁfvl}‘l (10)
(A)Lessthan20 Hz (= 20Hz (B)20 Hz (C) 20 kHz (D) More than 20 kHz sslic 20 kHz
(11) American astronaut Neil Armstrong stepped on moon: ~G}|{5JJEJ%’JTJ31LH‘;L€)A (11)
(A)March 2, 1952 1952 %A 2 (B) October 4, 1957 1957 451 4
(C) Juiy 20, 1869 1969 JU:? 20 (D) June 15,1972 1972 ¢ 15
(12) Total production capacity of Karachi Nuclear Power _i&.:fwdﬂ,u,«;dﬁ (KANUPP) .*;Lgngf’ﬁ;.%@f (12)
Plant (KANUPP) is: (A) i€~ 121 mega watt
(B) 2K~ 127 mega watt (C) <hE~ 137 mega watt (D) b€~ 141 mega watt
(13) Energy possessed by the body due to its position is called: -.;_.JML;)UW‘:..;,JCFJ;;J:KJ (13)
(A) Kinetic energy 45./'1_,@(:1{ (B) Potential energy GJIJ"‘%
(C) Elastic potential energy J./'iu‘}%‘..@i};l (D) Heat energy (§./\e
(14) The product of force and distance covered in the direction -Lar}kr'/__.iu""b K2 Goo b erSntin?  (14)
of force is called:’
(A) Energy ./ (B) Work s (C) Power sy (D) Current caid
(15) The way of obtaining electricity which does not e bR RSy S UL A (15)

produce thermal pollution is called:
(A) Hydro-electric power n_&J/’?iu,‘g; (B} Nuclear power s} /'.'5: (C) Bio Gas J'-f;f L (D) Thermal power J:I;J/?

42(0bj)( Y YT I)-2022(A)-10000 (MULTAN)



2022 (A) )
SSC PART-I (10th CLASS)
GMMNERAL SCIENCE GROUP-II

TIME ALLOWED: 2.10 Hours SUBJECTIVE il

MAXIMUM MARKS: 60 |
NOTE: Write same question number _.;_z-,;;u’:;_{.glr,ﬁ?g:” B .ulf,}Jiﬂﬁnghﬁm Y
and its part number on answer book, as given in the question paper.
SECTION- il

(8)]
o
1l
AW
S

2. Attempt any six parts. 12=2x6 ,,é/f...Liic’.’.fﬂi‘:.d:( 240y
(i)  Define potential energy. c’r_dfu( v J‘&'? (i)
(i) What is meant by heat energy? 9@:/J¢6zldzlf (ii)
(i) Write down the two causes of thermal pollution. ey /._.«l/lm.‘/.Jr:’J/ (i)
(iv) Describe the two uses of capacitors. éfu Lo U195 J /:’-’ (iv)
(v) Define random motion. ..g:._y/‘d/g_)‘fpg )
(vi) Write about any two switches. -u:"gui';_,,f@"f. Frve & i)
(vii) What are photodiodes? G SS (vl
(vii) What is meant by cable T.V? “g:/bc_ds-dvl"r (viii)
(ix) Write the names of any two parts of computer hardware. .y, (Lf ur"/:;,L».:.d)L/M (ix)
3. Attempt any six parts. 12=2x6 -e;’://uufﬁf?liadf _3 4y
(i)  Define Electrical energy. -u/J/‘JJ /lf/a (i)
(i) Differentiate between Solar energy and Solar power. ,LJ_’/J}U.J:&/‘MIJ/I)V (ii)
(i) Define Geothermal power. Gl SAe i)
(iv) Write definition and equation of electric current. u'“‘q_. lalssl /U.z/ G‘ji (iv)
(v) Define Step-down transformer and what is its function? e i "’KJI»‘J/L// wlfu;l)w“ (V)
(vi) Write two uses of alternating current. u‘“’d._«uwluﬁhrf AT (i)
(vi) Define P-N junction diode. Ew 5By i
(viii) What do you know about E.E.G? ST A LGS (Vi)
(ix) Write the function of electron gun ineglourtelevision. Jf(fuyﬁlu‘uz;u"/g (ix)
4. Attempt any six parts. 12=2x86 Efeplizge §f a4ty
() How does Radar work? Va:.t‘/’"ﬂ, AU ()
(i)  Describe two properties of Beta radiations. il ful«.-w”mf/ J*Jl* (if)
(i) How is steel made harder? fe b l,g,c)a JD*J“ (iif)
(iv) What is the difference between C.T.Scan and MRI? uu/'uif (MRI) dﬂr’( u,u"‘w (iv)
(v) What is meant by Pharmacy? “c;..;lfl_fc,u"m (v)
(vi) Write down two uses of ultrasound. *U:“GQUL»‘-"I»LM LfI/”F (vi)
(vii) What is Metostat? Write one use of it o e (vii)
(viii) Write two uses of nuclear radiations in the field of medicine. -g‘;—(;f":..uwluéu:’w"f’:gidqééﬁ%’ (wviii)
(ix) What is meant by Hubble Telescope? e e AES (0

SECTION-II (1.

NOTE: Attempt any three questions. 24=8x3 ..é:(;fagfi:cﬁ:«ﬂ!fufa,éf L
5.(A) Describe any two non-conventional methods of 2+2 _éugé’,)(}:lwf}:c,gjfidyﬁ’ﬁ FH (L5
producing electricity.

(B) Describe any four steps to minimize environmental degradation. 4x1 _éubutwubc_d/f a_./ﬁyd/lgfum o)
6.(A) Explain potential difference with example. 4 - fwb;fj}:d"?f;.;dv (=d)-6
(B) Write a detailed note on Galvanometer. 4 «.{Lq_.:’c_.d"”f/‘ﬂk ()
7.(A) What are Radio waves? How the radio transmissions 2+2 “JﬁéjfufﬁiJ vdmﬁm,u (-7

are proceeded?

(B) How does the television work? 4 ‘.’.:;;t'frs'éui;g}f ()
8.(A) Write four uses of laser. 1x4 _qfagﬂhx;‘l;géj;é ()-8
(B) Explain the principle of fibre optics. 4 e Jﬁ'fﬁii L)
9.(A) Write a note on Nuclear Power Plants of Karachi and Chashma. 2 +2 _.;fat_*.?{__‘flg»‘;ﬁ‘{:é&)?,nf@/ (.9

(B) Describe the purpose of establishment of institute 2+2 ,q‘c:i:ug;l.,éd/g’miﬁ((gﬁubl PINSTECH ()
PINSTECH and its services.
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TIME ALLOWED: 20 Minutes OBJECTIVE (%o 2220 = =
MAXIMUM MARKS: 15 15= AF

S A3 QL Npzene b I s L 36317 < fLE D 1 C B oA el el Jy S
FEIN V] ibéi_bk:uﬁ{/é)/ufaxfd/&.);é .J:Jsjb _fﬂu‘jﬂ&?«iﬁuﬁgﬂajﬂ‘ﬂ_ﬂ Pars L szx(u:}'ba{l,}c:.._g ot
Note: you have four choices for each objective type question as A, B, C and D. The choice _qu:J’ ﬂff..».my
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that questicn. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

Q.No.1 <1 /:‘Uly
(1) The S.1 unit of work is: -4 Sl K_s (1)
(A) Newton /s (B) Ohm (%l (C) Watt s (D) Joule Jz
(2) Amount of electricity consumed by a 2500 W AC in one hour is: -qﬂmﬁ}?lﬁﬁfé A.C Lisxls 2500 (2)
(A) < 2.5 unit (B) =¥ 2.00 unit (C) = 1.00 unit (D) 2% 100 unit
(3) Ethanol is produced by alcoholic fermentation, K el AP L g (3)
which is the substitute of:
(A) Kerosene cj.f’q,:( (B) Petroleum ﬁ:/fc_- {C) Gasoline u‘u"rf-’// (D) Natural gas Jf 3413
(4) The unit of current in system international is: e S AT @)
(A) Farad 312 (B) Ampere &% (C) Volt Lhs (D) Watt s
(5) Device which does not work with alternating current (A.C) is: et ) B T (5)
(A) Television /sl (BYFan W {Cy Motor (D) Iron
(8) The electric potential of neutral wire is: _‘gaxdﬁé_f}‘?ﬂ}bdﬂ:‘ (8)
(A) 200 s+ (B) 220 (v (C) Zero| (D) 1100 sikisz Ll
(7) Now a days the device used in place of fuse is: _z‘;éﬁdb"v’l;f/lﬁﬁfd/):é(}/af (7)
(A) Circuit breaker /‘z/_r;»:/ (B) Plug .ﬁv (C) Switch éy (D) Socket I
(8) In periodic table Germanium is found inthe _______ group. vﬁj_él,uf:.;/@’-‘ﬁ.ﬁ;fjgﬁﬁé} (8)
(A)2nd o 5 (B) 3rd < =& (C) Fifth /£, (D) Fourth & %
(9) The number of pictures completed on television screen -c‘..:u;d};{ﬁdbLﬂd‘i’f;ﬁ:ﬁiﬁ{@‘xﬁuf_fﬂf (9)
in one second are:
(A) 20 (B) 25 UsF (C) 35 U&= (D)30
(10) In P-N junction "P" part of the diode is called: e pr Lﬁflju:g‘ﬂ-cgf_q (10)
(A) Cathode 7 (B) Anode 35/ (C) An ion Tt (D) Cation &/
(11) The frequency of ultrasound is: ..f‘;_@;fu.";g};ffuiwﬂl (11)
(A) Less than 20 kHz ‘J:_,__.;ﬁ,K 20 (B) Equal to 20 kHz .»:rxrf.y};:g 20
(C) Greater than 20 kHz sslic 725 20 (D) 10 kHz %25 10
(12) In optical fibres each callers voice is changed into: _,Ltgoy/d_‘;}‘ﬁbTJJK,quf)ﬁﬁﬁf (12)
{A) Light signal uf‘_}fﬁﬁj (B) Radio signal Jﬁég
(C) Electrical signal UL 29) (D) Sound signal U 7L iiyT
(13) The test which is preferred these days to ,.c‘:.élgdjé}f.*.»ﬁﬁg,éﬁ delgui'l;"’ USUASLT (13)
diagnose central nervous system disease is:
(A) C.T Scan ¥ iy (B) E.C.G -y (©) MR 1T (D)EE.G {G-yi-dl
(14) Pakistan joined the countries of world bearing et s I bS] (14)
nuclear capability in:
(A) U 1978 AD (B) % -1997 AD (C) U +1948 AD (D) U% 1998 AD
(15) The production of research reactor PARR-Il is: -q_;gu»dmfﬁd’ PARR-II /"»fjfvﬂ,f (15)
(A) LiE+10 Mega watt (B) Lif 27 kilo watt (C) i 10 kilo watt (D) £hE-20 Mega watt
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Note: you have four choices for each objective type question as A, B, C and D. The choice ..Q/C:J?j;amr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Now a days the device used in place of fuse is:
(A) Circuit breaker 442/  (B)Plug i

A /-:Ufr

e sz SR ST

(C) Switch & (D) Socket /i

(1

(2) In periodic table Germanium is found in the group. ﬂ‘f_élsuffsxi)zﬁg}-”:_ﬁl_./gﬁé} (2)
(A) 2nd <2 (B) 3rd « (C) Fifth (/£ (D) Fourth & %,
(3) The number of pictures completed on television screen _5_;%@5@&1;&.:?&;‘}:}?.@{;;{/%2:& 3)
in one second are:
(A) 20 (B) 25 U+ () 35 /5= (D)30
(4) In P-N junction "P" part of the diode is called: i L;ff;ufu‘f‘%p_q (4)
(A) Cathode 4% (B) Anode 3l (C) Anion T (D) Cation ¢/
(5) The frequency of ultrasound is: -q.&ﬂu:';g}g}/ﬁivl/*’l (5)
(A) Less than 20 kHz fe 774 20 (B) Equatte 20 kHz 1. 7z 20
(C) Greater than 20 kHz sl Jcn 77420 (D) 10 kHz' #:%.10
(6) In optical fibres each callers voice is changed into: -ﬁ:ﬂt‘lggdjﬁﬁfﬁd/zjfﬁufjﬁﬁﬁ'f (6)
(A) Light signal Ut 5L & (B) Radio signal J* ¥4
(C) Electrical signal JL}Z&-}?I (D) Sound signal uf.‘t_}*g T
(7) The test which is preferred these days to 44,&&7(_5:@}[;»::&__&5“? Jd;t;-uff’/ UsdAUT (7)
diagnose central nervcus system disease is:
(A) C.T Scan ¥ b= (B)EC.G G-($-d! (C)MR.I T A (D)EEG G-y-¢!
(8) Pakistan joined the countries of world bearing BN S (VN SE PT WA ) (8)
nuclear capability in:
(A) U +1978 AD (B) U* 1997 AD (C) U* +1948 AD (D) % +1998 AD
(9) The production of research reactor PARR-I is: _iagﬁ*wdﬂﬂd;yf PARR-II }fz@ﬂ; (9)
(A) 20£-10 Mega watt (B) i 27 kilo watt  (C) 158 10 kilo watt (D) L1sE+20 Mega watt
(10) The S.I unit of work is: -« 8l 60 (10)
(A) Newton (/x (B) Ohm (sl (C) Watt s (D) Joule Jz
(11) Amount of electricity consumed by a 2500 W AC in one hour is: ,.f_b/JLx}l &“"}.O!Jvu’:fug A.C LiKels 2500 (11)
(A) =¥ 2.5 unit (B) =¥ 2.00 unit (C) =¥ 1.00 unit (D) ¢ 100 unit
(12) Ethanol is produced by alcoholic fermentation, ¥ __.?_d:g;,&‘aéﬂd‘ b F bl (12)
which is the substitute of: :
(A) Kerosene o237 (B) Petroleum (3% (C) Gasoline o*+f (D) Natural gas oL
(13) The unit of current in system international is: _%J;K&/uiﬁ}lfv (13)
(A) Farad 3l/:" (B) Ampere 4% (C) Volt L (D) Watt &1
(14) Device which does not work with alternating current (A.C) is: -C‘guf;:...*f'f\.ﬁ:ﬂ’lﬁ,ﬁ (14)
(A) Television Wi, (B) Fan L& (C) Motor s (D) Iron §
{15) The electric potential of neutral wire is: _.g.&m}""";q%lu(j!sdf’;& (15)

(A) 200 »v (B) 220 (dvw

(C) Zero (D) 1100 »fldz gl
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Note: you have four choices for each objective type question as A, B, C and D. The choice ./ )f:d’fg@ﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Ethanol is produced by alcoholic fermentation, _¥ __.f__d;t_f"-,&f-;jnflﬂ)]lé”#a./:}bﬁvﬁ (1)
which is the substitute of:
(A) Kerosene (/ / (B) Petroleum ﬂ:/f; (C) Gasoline yﬂrff// (D) Natural gas wff};ﬁ
(2) The unit of current in system international is: ,ﬁ;,_:;gb’.%f'fu:f‘f}—'l("’ (2)
(A) Farad 312 (B) Ampere 4%l (C) Volt s (D) Watt 2s
(3) Device which does not work with alternating current (A.C) is: Vet s/ BT (3)
(A) Television ¢/s& (B) Fan L% (C) Motor i+ (D) Iron (1
(4) The electric potential of neutral wire is: e G (@)
(A) 200 s (B) 220 s (C) Zero (D) 1100 »Lidzdl
(5) Now a days the device used in place of fuse is: -;.Jﬁ;)b}lu’ffgjﬁfd/iﬁfa‘r (5)
{A) Circuit breaker /—(/._‘.«f/ (B) Plug hﬂ; (C) Switch ér (D) Socket S
(6) In pericdic table Germanium is found in the group. _{;_&,u:f,f&L&Lﬁmrﬁ”z 6)
(A)2nd < 2 (B) 3rd « (C) Fifth {77, (D) Fourth &.¢
(7) The number of pictures completed on television screen -;l;.;fﬁJpLJduLnJ@ﬁJ;?..g{u;/%;z,& (7)
in one second are:
(A) 20 U (B) 25 U3+ (C) 35 U= (D) 30
(8) In P-N junction "P" part of the diode is called: —gEie e LpssPald @)
(A) Cathode 457 (B) Anode 15/ (C) An ion T/ (D) Cation ¢fi”
(9) The frequency of ultrasound is: _%Jﬂu;;g/.JﬁfL“lj’lf (9)
(A) Less than 20 kHz (fc_ f,q:b/ 20 (B) Equal to 20 kHz 41/.£7};;K20
(C) Greater than 20 kHz ugjc;'/};:g 20 (D) 10 kHz y};;f 10
(10) In optical fibres each callers voice is changed into: —e T A6 T (10)
(A) Light signal u:J‘ZLL}’:J (B) Radio signal u‘;)’guu
(C) Electrical signal = U2 (D) Sound signal U* 5L ityT
(11) The test which is preferred these days to e dtgwé/f-.,ffcj_z.wf” St AeT ()
diagnose central nervous system disease is: _
(A) C.T Scan s (B)ECG S--dl  (OMRI LA  (D)EEG G-¢i
(12) Pakistan joined the countries of world bearing e et L3 oo S 2 A L (12
nuclear capability in:
(A) U #1978 AD (B) U~ #1997 AD (C) X +1948 AD (D) U~ 1998 AD
{(13) The production of research reactor PARR-I| is: -{_.:guﬂd;fﬂ{,;u'/ PARR-II /‘-.(J@/.U (13)
(A) 21€+10 Mega watt (B) =i 27 Kilo watt (C) 21 10 kilo watt (D) < 15€420 Mega watt
(14) The S.1 unit of work is: —e Y SIES  (14)
(A) Newton /s (B) Ohm (%! (C) Watt s (D) Joule Jz
(15) Amount of electricity consumed by a 2500 W AC in one hour is: ,c‘,bfdtﬁ‘l W}?lfdf.g A.C [IK213 2500 (15)
(A) &y 2.5 unit (B) ¥ 2.00 unit (C) = 1.00 unit (D) =% 100 unit

44(Obj)( < T ¥)-2022(A)-4000 (MULTAN)



PAPER CODE 2022 (A) I” ey
& J

NUBER: 3008 SSC PART-ll (10th CLASS)

GENERAL SCIENCE GROUP-II b - e/ AR
TIME ALLOWED: 20 Minutes OBJECTIVE u"i/’.-a? o420 = =
MAXIMUM MARKS: 15 15= AS

S b I35 Al g mene b v isia Ll Dy Q0% &L D 1 C B oA 2zl Ly oot
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Note: you have four choices for each objective type question as A, B, C and D. The choice -q)f:J’}ff.:,ﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) In optical fibres each callers voice is changed into: -yb@gd.fﬁlstijqufJﬁﬁﬂT (1)
(A) Light signal 2S5 (B) Radio signal LA J%4,
(C) Electrical signal L2721 (D) Sound signal UE 5L s
(2) The test which is preferred these days to ,ﬁ.Jw;é}f;,:{ﬁgL&ﬁ Sk AR @
diagnose central nervous system disease is:
(A) C.T Scan ¢ 0.5 (B)E.C.G F-y-i! (C)MRI (T (D)E.EG G-JI-yf
(3) Pakistan joined the countries of world bearing st JEUt S L 2o 2 e (3)
nuclear capability in:
(A) J* 1978 AD (B) U* #1997 AD (C) J% +1948 AD (D) J* +1998 AD
(4) The production of research reactor PARR-Il is: va‘:ﬂqﬁﬂdﬂsl{;dj PARR-II /".(J@AJ 4)
(A) 215€-10 Mega watt (B)) issb. 27-kilo watt, (€l 40 Kilowatt (D) 15€+20 Mega watt
(5) The S.I unit of work is: 2SI (5)
(A) Newton ¢/« (B) Ohm (%l (C) Watt i (D) Joule 2
(6) Amount of electricity consumed by a 2500 W AC in one hour is: -c‘_l.“/f_)b«’lg:d/”?l(ﬁﬁg uﬁ A.C bgw, 2500 (6)
(A) & 2.5 unit (B) =¥ 2.00 unit (C) = 1.00 unit (D) & 100 unit
(7) Ethanol is produced by alcoholic fermentation, N ﬁz,d:y?fﬁq_(zﬁf b o ol (7)
which is the substitute of:
(A) Kerosene u_";/i/ (B) Petroleum ﬁs/_ﬁ; (C) Gasoline ﬂrf (D) Natural gas Jf L';J,:’
(8) The unit of current in system international is: d?&gb’&/ui'ﬁ}i(h/ (8)
(A) Farad 3i2 (B) Ampere &% (C) Volt s (D) Watt 215
(9) Device which does not work with alternating current (A.C) is: et i) B s it ()
(A) Television e/sf (B) Fan & (C) Motor »* (D) Iron -1
(10) The electric potential of neutral wire is: -:L_@ﬂg}%\_f}’?fd/ﬂ:dfﬁ (10)
(A) 200 s (B) 220 (v (C) Zero 3 (D) 1100 skt L
{(11) Now a days the device used in place of fuse is: -g:_JﬁdWlwazJ;JJx’ifaT (11)
(A) Circuit breaker )‘-//...‘./’;« (B) Plug V@ (C) Switch ér (D) Socket I
(12) In periodic table Germanium is found in the group. we Ot S PE S s (12)
(A)2nd o (B) 3rd (C) Fifth £} (D) Fourth &%
(13) The number of pictures completed on television screen -f;_.;lﬁu:uw'dhi_,m}‘: u::c?ug?c;/%z,df (13)
in one second are:
(A) 20 2 (B) 25 3% (C) 35 U5 (D)30 o
(14) In P-N junction "P" part of the diode is called: iz (.C;,fsﬁutcf“f"quq (14)
(A) Cathode 3% (B) Anode 35/ (C) An ion T/l (D) Cation /&
(15) The frequency of ultrasound is: _e:"_Jﬂ'U"";g,}d’Jt‘fL/’,ﬂf (15)
(A) Less than 20 kHz (= #7# 20 (B) Equal to 20 kHz s 775 20
(C) Greater than 20 kHz :lic%7s 20 (D) 10kHz 72 10
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